Geometry Parallel and Perpendicular Lines Day 1

Slope-intercept Form: y =mx + b
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What do you notice about their y-intercepts?
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Geometry Parallel and Perpendicular Lines Homework

Steps: 1) Write equation in slope-intercept form: y=mx+b  m = slope, b = y-intercept
2) The slope of a parallel line will be the same slope as the equation’s slope

3) The slope of a perpendicular, line will be the opposite reciprocal of the equation’s slope

Find the slope of & line parallel to each given line.
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Find the slope of a line perpendicular to each given line,
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Steps: 1) Write equation in slope-intercept form: y=mx+b  m = slope, b = y-intercept
2) The slope of a parallel line will be the same slope as the equation’s slope
3) The slope of a perpendicular line will be the opposite reciprocal of the equation’s slope
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